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ES 5 B O 4 ER (m)  [#25E (m) | REZSE (m) | #H2ER (%)
3 5 6 = 13, 181 13, 181 - 100. 00
FEM G EKR B T B R 6, 439 6, 439 - 100. 00
T OEM O E|E W R M 3, 084 3, 084 - 100. 00
HT L] 358, 226 234, 831 123, 395 65. 53
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(HAZ: m) Wk 2 344 A 1 HEUE
T 2a P X ok I &
I B OB 4 & E E B 5O FA b
3 .41 1) & 8o & 320 18 250 70
3412 #H H K 1, 750 16 0 1, 750
g3 04 - 1 3[ATHETH - B TR 1, 140 16 490 650
34148 B - B 2, 560 16 2, 560 0
34 15| M-H F # 2, 580 16 2,320 260
Hls.a.16 DA EE IR 1, 440 16 1, 140 300
3-5-17|% & B b # 420 12 420 0
% R OB A5 F 10, 210 7,180 3, 030
Frlg « 6 « 1|z & 0 = ® 1, 680 10 1, 258 422
pR|8 © 7 v 2% B R A R 2,370 7 445 1,925
8 « 7 - 3K B i 1, 080 7 1, 080 0
Bl .7 4l w m 750 7 497 253
o ook o & F 5, 880 3, 280 2, 600
(B2 i) WAk 2 344 A 1 HEE
4 PR Il EE
LR 1 BRET A (3+4+-11) 3, 600 3, 600
L RIRAL A A8 IR (3+5-17) 900 900
SRHT HR A IR (846 1) 3, 000 0
Z Rk n B s B BE R 1, 200 1, 200
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